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TUNGSRAM RADIO 63

Aute Oktode TEK2

Domkolben; max. Lénge cca 100 mm, max. Durchmesser cca 38 mm.

Heizung:

V=63V F=02A

Einstellung:

Va = 250 V Jo =11 mA
Vg2 = 200V Jg2 = 2 mA
Vg3+4-5= 50V Jg3+5= 1 mA
Vgd = —2V
Vg = 0V
Valeff = 86V

Betriebsdaten:

bei Vg4 = —2V Ja= 11 mA Ri = 2 M% Sc = 045 mANN

bei Vg4 = —25V Ja < 0015 mA Ri > 10 M@ Sc < 0002 mA/V
Grenzdaten:

Voomax... .. ... ... = 550V Vamax ... _.. =250V Wamox ... =058W

Vg (345)0max . .. = 150V Vg (345)Rmax =60V Wg (3--5) max = 02W

Vg4 max Jg =03 p A)= —13V Rgd mox ... .. = 25 M

Vg2o max .. ... . = 500V Vg2 max ... .. = 225V Wg2max ... =07 W

Rgl max ... . . =01 M&

Jkmox . . . = 8 mA

Jg2 min e e . = T4 mAY) Jo2 max ... ... = 26 mAY)

Jg 345) min .. .. = 07 mA?Y) Jg (3-}5)y max = 1'3 mAY)

Rfk max . . ... == 5000 ¢¥) Vik max . .. = 50 V

1) bei Vgleff = 85V
2) Uberbrickt durch 0'1 MF far R < 1000 £
1 MF far R > looo 2

Kapazitdten:

Cgl = &1 pF Cglgd = 10 pf
Cg4 = 84 pF Cgo2g4 < 015 of
Ca = 113 pF Cagd < 007 pF

Cg2 == 46 pf



